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First Year
ENGLISH (Paper —I)

MAXIMUM MARKS: 30
Answer ALL Questions

Read the following passage and answer the questions that follow.

It is the mad usage for speed that is responsible for many motor accidents. Only last
year I witnessed what might have been a fatal accident on the Kashmir road. I was
motoring down from Srinagar and came upon the wreckage of two cars on the road.
The smash had been caused by a car coming down, which swept round a sharp corner at
forty miles an hour and crashed into a car coming up. Thankfully no one was killed but
several were badly injured.

1)  Why do many accidents occur?

i)  Where did the writer witness the accident?

iii)  What caused the accident?

iv)  What was the effect of the accident?

v)  Give the antonym for, ‘sharp’?

Read the following passage and answer by choosing the right answer.

Of course, I am honest and a hard worker. In the very second week, I had made more
sales than the previous salesman had made during any week. Maybe because it was the
week before diwali when more saris are bought. Or it could have been due to my
salesmanship. Anyway I had good reason to be satisfied with the way things were
going. That was how it was until this morning. I was beginning to have rosy dreams of
getting married and settling down in mumbai, which is a good place for a refugee from

punjab.
1) Whois ‘I’?
i)  Customer il)  Salesman
iii) Boss iv)  Previous salesman
2) The speaker made more sales than
i)  The boss i)  The boss’s wife
i) The previous salesman iv)  Customer
3) The salesman made more sales because
1) Ofdiwali i1)  The salesmanship of the salesman
iil) The variety available iv)  Diwali season and salesmanship
4) The salesman was with his job.
i)  happy ii)  Unhappy
ii1) Satisfied iv)  Proud
5) The speaker belongs to
i)  Mumbai ii)  Delhi

iii) Punjab iv)  None of the above



02)

a)

b)

d)

Correct the following sentences:

1) Why you are not writing?

2) Either you or your sister are to attend the meeting.
3) The gold is very expensive

4) Where is the scissors?

5) One should put his belongings in the room.

Rewrite as directed.

1) Suraj rang the bell.(change the voice)

2) He went for the party (Add a question tag)

3) She said, where do you stay? (change into indirect speech)

4) He is honest though poor. (change into a compound sentence)

5) Veeru is the strongest man in the village.(change to positive degree)
Change into direct speech:

1) Seema said that she was going for a movie

2) Rajtold me to pass the book.

Fill in the blanks with correct forms of verbs given in the

1) He  (drink) soup every day.

2) They  (buy) a basket of mangoes.
3) Whenhe  (run), he fall down.

4) 1 (listen) carefully to what he said.
5) Thebaby  (cry) since morning.

Fill in the blanks with suitable words given in the end.
1) He  everyone with his performance
2) Rocky  the murder of his sister

3) God  oureveryneed

4) Reena  me acup of tea.

5) He  everyday

(avenged, exercises, brought, mesmerized, S)
Rewrite the following set of jumbled sentences to make a wherent passage.
1) She lived in Mumbai.
2) Her children helped her in the business.
3) She shared the profits with them.
4) Mrs. Raj was an elderly lady.
5) There she ran a cloth business.



g) Write three exchanges of dialogue between a customer who comes to a lodge to stay for
three days and the receptionist there.

h) Write a paragraph using the following hints.
Poor villager — educated son — son gets a good job — neglects father — gets involved
in corruption — loses job — comes home —father consoles — son repents.

1) Write in about 100 words the following.
1) Social media-curse or born?
2) Fast food and lifestyle diseases

3) Climate change and its impact
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Q1) Write essays on the following.

02)

03)

04)

a)
b)
c)
d)

Bring out the humour in R.K. Narayan’s ‘A snake in the grass’.
How does ‘Letter to India’ reveal a father’s love for his daughter.
Justify the title, ‘Blood, Tail, Tears and sweat.

Bring out the humour in, ‘A marriage proposal’.

Write short notes the following.

a)
b)
c)
d)
e)

What are the reasons the poet gives to laugh and be merry?

What inspects of science does the poet bring out in ‘sonnet-to science’?
What is the central theme of piano and drums?

Summarize the poem, ‘The express’.

Justify the title, “The tables turned’.

Write essays on the following

a)
b)

c)
a)

b)

What doe Tolstoy’s story reveal about the character of God?
Bring out the appropriateness of the title, ‘The gold watch’.
Narrate the hardships faced by the old refugee.

Explain the following

1) “Do you charge five shillings for everything”?
2) “I hope your law is better than your rowing.”
3) “Deepak was about any fifth name”.

Explain the following

1) Small is the worth of beauty from the light retired.
2) God made heaven and earth for joy.
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Answer ALL Questions

01) 53808 3208 HO HWeY WIBTFHN TOTVHD
— &) L] —

02)

03)

a)

b)

DHEB HBeIN BEE3S Hodgmets CTe BT
DOH0¢5 DOFPORDC VEPHOBNC BTG BERE O
DO DDTORD BOLSHHD B0 é{sgiotﬁoo 20

& (&

B HOR0GBNBEY BHOL §39)¢5,085 BES Swoad!
HEB0D DEIBS GRS BOTHD QB SO 2300 o
HEOBE GIEBB BHHO BPODB DB HEO

?863953 DBOO DEERIBD DEIPB0,Q @*S@mo@@cs

DoRaoess] aQer BERS BE,D o BOBOIS

B8 E08 3208 DOLY D370B 3952300 FTPOTVSD.

a)
b)
c)
d)

a)
b)
c)
d)

& - gIaio
23 &8 HF0e0e BBIEO0ED.
DY 00 3033 IS S0B
Beo DEDO00C (ToQR3 ?
DB0H &)§ RDOTIDOLED m(&%%’)oa

& - 8330
598 550000 HeE HSSP0DH
TRDHBED VOGO KB OB
05,3508 Doy BOB, BB ROOTDH
270¢3; OEI0ROO EEBYPOED ?

88 08 5208 95:08308) DIBIPEIPHHD TeOI0HW.

a)
b)

a)
b)

& - gIadio
BEOOBO RO,E DDOOCTHD
BgBoTBBD BH DBOHDES DE0
& - 8Jed50
B, BPDHO NBHO DHBODD BKD.
95 Bz DFpen BYOG.



a)
b)

a)
b)

& - gIadio
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MAXIMUM MARKS: 30
Answer ALL Questions

01) 53 808 3208 HBIEHBD T2OKOBD.

B3 BOHBS® 2308708 @0To0

TRODHRED BOBODD SOG 383({33 D3 ?

& - 83’0

008038 5215000 E50DD SO ?

B0 HoBOD F50IB

02) 53 808 3208 HBIEAHHD TPOKOBW.

a) ROOT PG Ded

b)

Slvlelnlerty))

C) BB OFEFO0 BOY S0epBEH H550 BHOL HHBOH;000WOR.

d) S0eR8s HEren HHO T EEBH0 DBOODHD.

03) 53 808 32D OBV DOY S50 TPAKHOWD.

el LTAT Y S1oS) b) 3,858
B 5500 d) o000s0080
9E, BT ) Doy
©OB0H h) egsse0
©8,HDSS J) 33

04) 53 808 3208 QT HEENED TR DHTDHNVOHBI HBOOLDED.
E5JpHe3850 b) g esen
BB TIH0R0e0 d) asmegod
©50DBOLVOO f) 0538505850
B S5B0ED h) oeosss, 28
5508 DS ) @opgH0en
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0l) a) Explam in brief the Glory of the Kavya of Valmiki?
ATcHIoh : HISTITHT HHYU forerd ?

b) Explain the Qualities of scholors as described by Noble Vidura?

forgie ST SvsqeE fe 7

02) a) Describe the words of the companion of Parvathi to the celibate?

UTecaT: H@l Sifed S fohgar Furid ?

b) Explain the help rendeved by Rajavahana to the Brahmin?
{I\YICIISH?GI IQ\YII‘*{G@GI |°|-‘<’|C\e4(1 7

03) a) Describe the six reasons as persoriabed in the lesson?
C
qTGIITTHIY T g U ?

b) Write the story of “MrltOJJeevanam ?
Jj‘(1|\1'\7||0|"| ATHYEA(H It'i’eld?

04) Answer any the following with reference to context.
ST |
a) 3fcar: SMegamen Teva sama: |
b) ST FgHT: |
¢) fFfeearfs 7 dadl
d) Tl amudaged)
e) I Temisafd e & aq
f) SIEETEIdl gEHIAr |
g) AT g =

h) ek GoeRUCeh! TR |
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Translate into English or Telugu :

YT A1 STEHTSIT a1 3TaTed|

a) ATCHA FHREIA T eefear|
Trat ek | & fved 3=Ad ||

b) dcas: AT ANTH: FeshHUTY|
IR FSOM R 9fved I=Ad ||

c) it pea i fis of feafea =)
HH FIRYA g8 dHTgHEaEH | |

d) g foqea 7 qarfd eaar F=m=d|

o~ c
HR[HA A Hd (1‘-|I§\‘-LG"-1(1HH_\||

a) Write the forms of the other numbers of the given persons.

" AageRy wTgeaTir fore|
1) I9aq
2) Ttersafa
3) wigd
4) favq
5) 3T
6) WIS
7) faatfa
8) w&dld



b)  Decline the case ending.

d)

Tafguiry SregeaTior fored|

1) <&
2) ar
3) ¥gH
4) T
5) TEn

6) THME:
7) HAH
8) d=dl
Combine sandhi’s.
g4 |

1) B+ g=:0
2) dd + 34

3) dA1T + Ud

4) 3 + o=

5) d + 3™

6) dd +

7) Yg + M

8) da + Afu:
Dissolve:

oo

' femrgarenta forad|
1) T9em
2) YIHM:
3) qEf:
4) wAmfa:
5) e
6) arcaem
7)  HYEM:
8) WUHIGL:
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Q1) T Tigd =men Hifvw|

a) T3 ST § TERHT TR Ik &IUTICRAT <hl T AT TS 1 T@HE &l T4 &

b) Terar st <m forar wed 81 58 foreft y=e foar 3 wehe o 2, 3@ 9= Y fSeft @
el 2|

c) ‘3T ThEeh Bl 37 UgHH Ta JehIereh &1 al A0 Siiiod| gIeigRh <hl qfedi, 3T oy
% TN RaeT X 98 W ¥ H @ fT@HT =18dl 8, 39 i & ATUEehR 8
EIRUEIICOICT

d) T3 |¥IAT % 39 Fehifdepdl H WA 99 19T Fgad @1 ¢, 98 3fad 1 8rm|

e) TH TTEh Sl I A8 W &l IAdl & 97 &l 39 e ! off Tier 2|

02) U 1 g faemarett afza faReau)
a) WA TEed i Tehall
b) hfa 3R il

03) U 1 A fesmaren @t fafeu)
a) ¥&1 g T W T
b) Afaf|

Q4) weH w1 g fvared afea fafaw
a) 3T g AT
b) TSI
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a) 3Tk TUar =1 T9F U9 o forw v ferfad|
b) & weames TRl & fofe, gamTEYS % A W U 31ded U fefau

o1 ST SfaTel €| Uikl o ferfau)

a) AYfereRt @1 TfE-famo Hifvg

b) ‘3THRL T FAT HeH! T IfTHh i ATHAT T THE ST
c) =% I grEd’ HEH! T FAT e 7 ?

d) ‘gradt’ o1 aie femor hifsm)

e T 1 IR fora Afar 2|

a) IR AT gl W 7| (“Tom’ sgeem fafu))
b) 3Tl hreiSt <l gel B (‘o= sewet fafeu))
c) & fordt dwm| (ar=a seeR forfeul)

d) W& T e 8| (Wit et ¥ forfeu))

e) drar uis feradt 81 (qrcehiferes aduehtal § fefaw))
fy e 3 wrwer feAn| (e 1 AW faRau))

g) e TS |1 H ST =88l (Yg HIm)
h) TH ¥ =1 781 11| (I dedet ffaw))

i) Hiar & qfd =1 am W ]| (R H1 AW faRaw))
j) Postman (39 e =1 1Y et # fefau))




04) gl 1 7Y ot A forgent gl o = i
a) AW
b) ARG
c) Wrdshl
d) w3
e) pwEd



o1

02)

03)

04)

05)

06)

7)

08)

(DBMAT11/DSMAT11)
ASSIGNMENT-1
B.A./B.Sc. DEGREE EXAMINATION, MAY -2019
First Year
MATHEMATICS -1
Dif. Equ., Abs. Alg & Vec. Calculus

MAXIMUM MARKS: 30
Answer ALL Questions

Solve xQJr 2y =x"logx
dx

x?+2y = x"logx ® DeoHEw.
A

Solve (y—px)(p-1)=p
(y—px)(p-1)=p & Foosnsm.

Solve (D' —5D* +8D—4)y=¢™

(D’ =5D* +8D—4)y =€ 5 dpgowsosm.
Solve (D2 +1)y =secx

(D2 + l)y =SECX KO DOOTIHDW.

Let G be a group if a, b € G then prove that (ab)' =b"a
a, b @0 @SN G S50 SateeEsnen a0 (ab)'1 =b'a” o0 oEDOwSOsE.

In the multiplication group G = {1,-1,i,—i}, find the order of the each element.
565 asazeaesn G = {1,—1,i,~i} B0, HS HoTPOEHD B0, BSHS EEOG00.

If ¢ =2xz* —x’y, then find the value of %i+%j+%k at (2,-2,1)
ox Oy
¢=2xz" —x"y oand (2,-2,1) e %Fr?j +?k DB B0E508.
)y z

Prove that Ir.Nds =3V

Ir.NdS =3V @ 53RO,

s



)

02)

03)

b)

b)
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Dif. Equ., Abs. Alg & Vec. Calculus

MAXIMUM MARKS: 30
Answer ALL Questions

Solve x? +2y =x"logx &0 deeoSod.
x

Solve %(bc tan ™' y—x3)(1 +y2) =0 &0 DOoob.

Solve y=2px+y°p’
y=2px+y’p’ S oS0,

Solve (y —px)(p - 1) = P &0 &&osob.

Solve (D2 — 3D)y =2e™ sinx

(D2 —3D)y =2e™ sinx © DeHoSod.

3 2
Solve ﬂ+3d y+2ﬂ_ 2

e’ dx* dx
3 2
d )3}+3d )2}4_2@:)52 0 DOS0%.
dx dx dx

Solve (D2 —4D+4)y =x’sinx+e” +3
(D2 —4D+4)y =x’sinx+e™ +3 0 Doposod.
Solve (D2 +4)y:xsinx

(D2 +4)y = xsinx %o DoSod.

Find the g.c.d. 0f 42823 and 6409 and express it in the form of
42823x+ 6409y

42823, 6409 o 5.80.55050 8506520 @ 42823x+6409) S3H065° spanod.

State and prove Wilson’s theorem.
DYS DEPOBHENH HH DO, DEFDOTSO.



b) 1) Prove the set Q of rational numbers other than 1, with operation @ such that
a®b=a+b—abVa,b e Q is an abelian group.
BESHOD DogY; BB Q SF 2,563 B8 BDS Hoewseer D @ HBODHHO

a®b=a+b—abVa,be 0 w0kt DS;DN), & HHOS HOBIOD HEBTETBOD
53505,

ii) State and prove Lagrange’s theorem.
2308 DEROBHND HHD0E), DBIDOTIO.

04) a) 1) Provethatcurl ¥ =0
curl 7 =0 e O&PDoSE.

ii) Verify Green’s theorem in the plane for Nﬁ%xz -8 yz)ier (4y- 6xy)dy where

c

C is the region bounded by y=+/x and y=x’
y=x Sooom y =1’ vosRegenm o FoBsn C @ond

Nﬁ%xz -8 y2)1x+ (4y- 6xy)dy serns 8§ REROBO HOWRHOE.

b) i) Find the greatest value of the directional derivative of the functions f =x’yz’
at (2,1,-1)
(2,1,—1) &5 Dabawo f=x"yz’ O DB ©0PS HeHid Bi5085,08.

ii) State and prove “Gauss Diversene theorem” .
PR DD DELROTOY DD, DBEIBHOTIO.

+4++
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First Year
ECONOMICS -1
Economic Theory

MAXIMUM MARKS: 30
Answer ALL Questions

Q1) Difterence between Micro and Macro economics.

02)

03)

04)

05)

06)

7)

08)

QY H0OATD DR BSFFO g Bzoen.

Explain the law of demand and its exceptions.
838530080 DT HHOOL HDOALD oD QVHITEON 0O BYOLs.

Explain Keynes concept of consumption function.
£S 33008, HOCIRES HO 3705 (708 BRO.

Consequences and control measures of inflations.
B850 DOEFIHTRV FOOAKD DTIBETD TITD.

Define indifference curves and explain the consumer’s equilibrium with the help of
indifference curves.
SRdHST SECWEV WOEDREI? GredSTe HEDPS DEIBADHOSE HOCITHSTED

DB and)o&.

Explain the how equilibrium price determination under perfect competition market.
DoRY 863 B303, DHBOBQ 550 D SO DBOORLD.

Explain the law of variable proportionate.
TOE0NS IR HBOOSOL.

What is National Income and explain the calculation methods of National Income.
eS0T DHID B ? 2pEAEONRE B8,083 HEB BOOSOE?



(DECO1)
ASSIGNMENT-2

B.A. DEGREE EXAMINATION, MAY - 2019
First Year
ECONOMICS -1
Economic Theory

MAXIMUM MARKS: 30
Answer ALL Questions

Q1) Explain the Keynes theory of Income and Employment.
ES 33008, 30D ©G8;Bme BETR0BR) HBOOWOH ?

02) Explain about Cost push and Demand pull inflation.
HODDOB HOOTD BHI0LE DO 530 (5728 TPOHO.
03) Law of Diminishing Marginal Utility

£e59008 HATS KRB0

04) Accelarator
D5B 5e0

05) Marginal productivity theory

BIPOSB é@gcsé@ ?’ocgoéo

06) Price Discrimination under monopoly
DBy 50,088 56 DG

07) RBI monetary policy
RBI c308, $55:05250

08) Law of returns to scale
BBT8DDDODO0D DEHeRD

44+
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First Year

Statistics — Paper - I : PROBABILITY & DISTRIBUTION (Part - II)

01) 2

b)

02) a)

b)

03) a)

b)

MAXIMUM MARKS: 30
Answer ALL Questions

Define Mean, Median and Mode and write their merits and demerits
QOBBIGENHD, DOGODS OO IPREH PHO0W), TPE ©FEeen  HoOAKD

BODOZEFODD T2ATDED.
Calculate Median to the following data.

Class interval 20-30 30-40 40-50 50-60 | 60-70
B85S

Frequency 3 5 20 10 5
P38V

DD Y Se0oce08 Median 5:506°:505500.

State the prove “additional theorem” for 2 events A & B
A & B 050 30t 00500058 DBHHS G505 DHDOD DG DODIHD.

Compute the first four central moments to the following data
B33 e B0HOD HRBBBO 0O RYD 5B0TNS BH50G2:050.

Class interval | 0-10 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
B80S

Frequency 2 8 12 40 20 15 3
PoD38VERG0

Define the following

i) Sample space

ii) Event

iii) Probability

iv) Conditional probability
v) Random experiment
808 23 HOOIYHN

1) oo

i) FotoSen

1ii) HogrH.s

1v) DEYE DY 50
V) Oy RE HO30ec550.

A class consists of 6 girls and 10 boys. If a committee of ‘3” is chosen at random
From the class, find the probability that



04) a)

b)

05) a)

b)

i) 3 boys are selected

ii) Exactly 2 girls are selected
28 BEEBS® 6 00 @HP,0000, 10 FOO WeROVED BT, SBHS Fo0LD HNGBD
R QEO0e E0800 880B30e Dok WD, WO B3 BoO 38 HOZRBLBH0
BB062:8080

1) S0 eepanen ©ond

1) YBOTe RGO ©9ET,00000 O0BE,ED.

Define Random variable? Explain different types of probability distribution
functions of R.V and their properties.

ORGP SOTBD  DBDODHD. OFRGHPE 008 3G, DR Q&Qﬁag
DB D0 03 &R0 BQHD.
A continuous Random variable ‘X’ has the following p.d.f.
k(1-x%); 0<x<l
f(x) = .
0 ; otherwise
Find i) K ii) Mean iii) Variance
X o030 83 8od BYS D0gRH@ DOGEH NIOIRY EYS 28 OOQY OIS
TIOTeB OVD
k(1-x%); 0<x<l
0 ; otherwise

f(x)={

1) k®ensso 11) @085065:5080 1il) DK@ BBoG2:050.

Let ‘X’ be a Random variable with the probability function

X 0 1 2 3

fx) | 13| 12 | 124] 1/8

Find the expected value of y = (x-1)?

X o3 ODYF OGNS OB BONVD DB YD SWOTVS AR ST
oo ¥ = (X-1)2% S806°0050

Define cumulant generating function and write the formulas of mean and variance
in cumulants.

cumulant generating function &> ©HOOTHHDL HIOOALD OBHISEDHD HBOOATD
K HBow A3, Bregsneso cumulants 68 geaxosn



(DBSTT11/DSSTT11)
ASSIGNMENT-2
B.A./B.SC. DEGREE EXAMINATION, MAY - 2019
First Year

Statistics — Paper - I : PROBABILITY & DISTRIBUTION (Part - II)

01) 2

b)

02) a)

b)

03) a)

b)

MAXIMUM MARKS: 30
Answer ALL Questions

Define binomial distribution? And also define characteristics function, cumulant
generating function by using binomial distribution

DD DgrPESHn DHOoSn? characteristics function, cumulant generating
DIBOIHND BFES DI B0 GHCITPAOD HHDOLHL.

The mean and variance of Binomial distribution are 4 & 5 respectively. Find

P(x=>1)

4
DD HaRRBHN GBS, WOBHIFEIHN OO Dy 4 Hodaw 3 SEDTe
©ond P(x 21) &0 80698085%.

Define hyper geometric distribution and obtain its mean and variance?
3PHE  RQOBOLH  DFPBRBO  DG;DOD, D WOBIGEIHD  FoD0TD DX HBIOTD
BB0HH0D0 ?

5
The moment generating function of a random variable ‘X’ is [§+%e’j find the

distribution, mean and variance

5
2 1
‘X ol oegQs weoesdd m.gf. [§+§e’j ©ONTE BOBHFEBH  HBIDOLO
DR YOO BBOGHEOH0.

Define Gamma distribution and obtain its mean and variance?
o7  DEIPBRBEBND) DBOONHD OATH DD A8, WOBBIEIFOHN  SHODOI0
DY) BoOOD B0E?00800 ?

If °X’ is normally distributed with mean ‘12’ and standard deviation ‘3’. Find the
following probabilities.

‘X’ eoBsogsosn 12, standard deviation ‘37 & ReEms; HapasHn WAy 80O
06380 B30H2K5050.

i) P(x>15)

i) P(x<6)

i) P(10<x<14)



04) 2

b)

2)

h)

)

The first four moments of a distribution about the value ‘4’ of a variable are 1, 4,
10, 45. Find first four moments about mean?

WOoed S ‘4’ ©00BD;E B3 Tt Hredsen 1, 4, 10, 45 OB B0
TRV PTIBBOID BOBEDEE0HN (DOTR BOGPRH0ED.

Give the various measure of skewness

DG @@aagé@ (£SO BeYSD.

Explain various definitions of probability.
D0gIRHEBL0 OB DESHNOOT HHBOOLYEHD.

Write down Cauchy-schwartz in equality?

Cauchy-schwartz es555e8:50 se00500.

Define moment generating function and explain its properties

m.g.f. &0 DHO0D 063 (5TR,H0 TN ?

If X and Y are two radom variables, then S.T. E(ax+by) = aE(x)+bE(y)
X @000 Y o0 afeegyQs weoeben @ond E(axtby) = aB(x)+bE(y)

Write the recurrence relation for probability of poisson distribution
POVBS DeIeBHI0 A8, DOEIEIBED DT5S DOOLHNED Te0HOHD.

Show that Q.D, M.D and S.D are in the ratio 10:12:15 in a normal distribution

DSRS; Hepassn Socd Q.D, M.D oot S.D eo 10:12:15 25586° o5
DBFHOTIHD.

Wirite the statement of central limit theorem?
80g HOB RGTROSHD G300, HETBO0ET TPOT0HD.

Show that v(ax+b) = a’v(x)

v(ax+h) = a’v(x) 5 OE3B0wHH0
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